
POLARIS Sportsman Ace 570 from 2017 (TBW) 
Parts list for MCS 2750 TBW 
 

Item Qty Part Number Description 

1  1 MCS 8000C TBW Computer 

2  2 lengths  Velcro mounting tape 7cm long 

 

3   MCS 2754-835F Control Switch assembly with OPTIONAL spray switch 

 1 MCS 822-90 Control Switch 

  4  4 gauge x 1/2” pan head self-tap screws 

 1 MCS 835F Switch bracket with spray switch 

  1 MCS 823-90 Spray switch 

OR 

4    MCS 2754-836F Control Switch assembly without spray switch 

 1 MCS 822-90 Control Switch 

  4  4 gauge x 1/2” pan head self-tap screws 

 1 MCS 836F Switch bracket without spray switch 

 

5   1 MCS 835K-Plate Switch mounting plate 

6  2  M4 x 8 pan head screws 

7   4  4mm flat washers 

 

8  1 MCS 2751 Wiring harness 

a   Computer plug (26 pin) 

b   Cruise Control Power Fuse (3 amp fuse) 

c   Control switch plugs (6 way & 3 way) 

d   Speed sensor connectors (green/red wires) 

e   Gear position sensor connectors (white wires) 

f   Brake switch connectors (red & orange wires) 

g    Connectors for optional Spray power harness(pink & blue wires) 

 

9   1 MCS2571 TPH Throttle Pedal Harness 

 

OPTIONAL MCS 2571SPK Spray Power Kit 

10   1 MCS 2571SPH Spray Power Harness 

11   1 JD 045M Spray Power Socket 

12    2 H 2832 Terminals for above 

13   3  8g x 3/8 self-tapping screws (relay/power plug mount) 

  1  M5 x 16 pan head screw (relay mount) 

  1  5mm flat washer (relay mount) 

  1  M5 Nyloc nut (relay mount) 

14   1 JD 045M Spray Power Plug 

15   2 H 3555 Terminals for above 

 

  1  Dress Makers Pin (terminal extractor tool) 

 1  Paperclip (computer terminal extractor) 

 10  1500mm cable ties 

 10  200mm cable ties 

  10  300mm cable ties 

 

   Information, Set up and Operation Manual 

   Operation and User Manual 

   Installation Manual 

   Trouble shooting guide 

 



 
 

 

15

1

2
6   7

3

4

OFF RES
DEC

SET
ACC

ON
OFFAUTO

ON
SPRAY

RES
DEC

SET
ACC

ON
OFF

F
E

D
C

B
A

F
E

D
C

B
A

8

a

b

c

d

ef
g

3
2

1
4

5
1
3

1
2

1
0

9
8

7
6

1
1

3
A

9

10

12

13

11 14
a b c

d
ef

1
2
V

 4
0
A

1
0
A

5


